12.375 [314.3]
(nom.)

11.028 [280.1]

0O.D. from data sheet, the other

-—5.748 [146.0]— values from kees 52, see Post
#4109 Collaborative TH thread.

Area needed for cone
correction @ S2:

Area=22.196in"2 [143.2cm”2]

6.732 [171.0]
—1.807 [45.9]

4 A\ 0630 [16.0]
/ - | /
Y 7. 7/ L7

—| 4.921 [125.0] |~ 1.161 [29.5]

11.299 [287.0]

Radius
—{ 4.927 [125.2] |=— Cone and hole dimensions
Radius for volume calculations.

—2.559 [65.0]
—1.807 [45.9]

¢
|
}‘—11.273 [286.3]——‘ 0.750 [19.1]—f

Diameter
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